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Quick Assessment No. 3.1 - Subtraction

Name:

Roll No.: Std: 4 Division: Date:

Q.1. Fill in the missing numbers. State the properties of subtraction that you have

used.

a. 11,700 — = 11,700
Property:

b. 9,900 —- =0
Property:

Q.2. Find the difference.
a. 29,784 — 7,434 b. 45,670 — 29,879 c. 30,000 — 19,945

Q.3. Fill in the missing numbers and complete the subtraction.

a. b

TTh Th H T (0) " TTh Th H T
8 | 5 9 4 1

— 4 0 ~ 3
1|16 | 2| 8| 4 6| 2 | 2|0
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Q.4. Solve these story problems.
a. During an election, out of 85,842 voters only 56,234 cast their votes. How many

people did not cast their votes?

b. Sarah had %¥68,600. Of which, she spent 19,946 to buy furniture. What is the amount

left with her after the purchase?

Q.5. Frame a simple subtraction word problem using the following fact and solve it.

15,500 - 5,690
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Q.6. Solve.
a. 9,000 — 5,000 + 7,000 b. 51,563 + 3,764 — 38,470

Q.7. The total population of Chikhli village is 5,900. There are 2,390 men and 2,290
women living in that village. Remaining are children. How many children are there

in the village?

Q.8. Solve.
a. Estimate the difference by rounding the numbers to the nearest thousand.

i.12,870-9,820 > - =

a. Estimate the difference by rounding the numbers to the nearest hundred.

ii. 7,790 — 5,643 > - =
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Q.9. Rajendra sold 19,875 of wheat bags and 13,680 rice bags. About how many less

rice bags than wheat bags did he sell? [Estimate to the nearest thousand.]

Q.10. Tick the correct option.

a. Number 1000 less than 17,125 is
i. 16,000 [ | i. 16,125 [ ] iii. 6,125 [ | iv. 10,000 [ ]

b. The predecessor of 29,999 — 9,999 is
i.20,001 | | i. 29,998 | | jii. 19,999 [ | iv. 20,000 [ |

c. 10,000 - 0 — 1,000 = :
i. 10,000 [ | i. 1,000 [ | jii. 9,000 [ ] iv. 11,000 | |

d. Tarun earned 329,940 by selling coconuts and 32,875 by selling mangoes in the
month of May. He earned about X more from mangoes. Round the numbers
to the nearest hundreds.
i.3,000 | | ii. 4000 [ | ji. 2,500 | ] iv. 3,900 [ |

e. (greatest 5-digit number) — 0 — (smallest 5-digit number) =

89,999 [ | i. 99,999 [ | iii. 1,00,000 [ | iv. 98,999 [ |

Teacher’s remark:
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